Приложение 2
		№
	Чему равно?
	В1
	Варианты ответов

	1.
	(а+1)2
	Д
	4a2+4ab+b2

	2.
	(а+2)2
	Ц
	4a2+12a+9

	3.
	(а+b)2
	Л
	a2+2ab+b2

	4.
	(2а+1)2
	Е
	a2+4ab+4b2

	5.
	(2a+b)2
	О
	4a2+4a+1

	6.
	(a+2b)2
	М
	a2+2a+1

	7.
	(2а+3)2
	О
	a2+4a+4



		№
	Чему равно?
	В2
	Варианты ответов

	1.
	(n+1)2
	Ч
	4n2+4nm+m2

	2.
	(n+2)2
	О
	4n2+12n+9

	3.
	(n+m)2
	Л
	n2+2nm+m2

	4.
	(2n+1)2
	Н
	n2+4nm+4m2

	5.
	(2n+m)2
	И
	4n2+4n+1

	6.
	(n+2m)2
	О
	n2+2n+1

	7.
	(2n+3)2
	Т
	n2+4n+4
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		Бланк ответов○КВАДРАТ СУММЫ-1○В2

	○ Класс
	

	○Фамилия
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